e ey « Era/sEe

=T 10

. (%15 ; &=
el N = 3
(e ] HE HE FEanE WEEE TSR Bt
BPY21 SU2 B EEA90
BPY22 EER B EEA50
BPY23 REAs | SUS440C | BHEA90 80°C JNFRIZIE
BPY31 } SuJ2 e
BPY32 | FEIX SUsaaoC | PA%0
EHEE
BPY21/22/23
LA AFL(d5~10) - SKERERLARRI /N AFL(d12~16)
(HEIIE) (TEHE) | FEHE) (FLIE)
. ‘
\Y
<
Y
o H—T—1—1rs 3
- i

B1
IKEE
BPY31/32
LEBA7AFL(d5~10) - AERREB A7 AFL(d 12~16)
e ~ L (PR =
(e (EEE) wEg (EEHE)
L
v
o
N
R e e 3
\M
R13/| R13/|_Bln
B1
@ d10LU TSR EIBIEN T, fing: S—1A
oS it DU | BVTEE(rpm)
e dnr b | &HE i B Bt e VIvi TN [FERA0] EEAS
5 ) 13 M5x0.8 9 110 | 23 7.5 N 68 1500 250
- 6 | ooz [ 16 M6x1 28 9 90 1300 220
g% B@p%% 8 19 PP vigxt25 | 1 | 12 32 | — [ 11 — 4 95 1180 190
0 L i B
EE - 10 | oo |22 FEHB| ) 0ar25] 12 |13 | 36 13 5 (—0 . 1080 | 170
TR BPY31 30 | TEHE 140 830 140
BPY32 12 | o 3 M12x1.5 | 14 |15 | 40 | , |14 6 6 50 500 130
E7 16 35 M16x1.5 | 18 | 19.5 | 52 18 8 200 740 120
5 0 13 M5x0.8 9 |10 | 23 7.5 3 68 1500 250
6 | 02 |16 M6x1 1 | 1o |28 9 90 1300 220
o 8 19 M8x1.25 32 | — [ 11 — [ 4 95 1180 190
= y 22 PP 110 1060 170
-0.015
BPY22 10 26 mmaym| M10¥1:25 12 |13 | 36 13 5 120 930 150
30 140 830 140
T M12x1.5 | 14 [15 | 40 | . |14 6 6 150 500 130
16 35 M16x15 | 18 | 195 52 18 8 200 740 120
= e
B ] e "1 i
“ “apyan | (PrmEHE ot [1o0%[BEmEn
WiREFT BPY92 | 6 | 16 | —(REHE) FBUNGT)

BPY31—d5—D13—PP



	页 2

